(R BRE R GROSS | HDCP | NET
B B HBHP F&H 42 41 83 15.0 68.0
Eeh Wil & 39 43 82/ 13.0 69.0

ML | F R 39 43 82/ 13.0 69.0

Ay EE RA 40 43 83 13.0 70.0

S e fE— 44 41 85 15.0 70.0

66 |ZER EFE 43 41 84 13.0 71.0

o |f B 43 42 85 140 71.0

8 Rk &EK 43 39 82/ 11.0 71.0

O [iE FHE 40 46 86/ 15.0 71.0

102 REHE FJM 42 41 83 12.0 71.0

16 Rk BAF 42 43 85 13.0 72.0

1262 B8R RiE 41 46 87 140 73.0

136z WE B 43 43 86/ 13.0 73.0

14 1uA &F 46 43 89 15.0 74.0

1562 £ Ktk 44 44 88 140 74.0

1662 K+ 7% 43 44 87 12.0 75.0

172 /MR ZE] 46 43 89 140 75.0

186 &f & 42 48 90/ 15.0 75.0

19z BT M2 44 42 86/ 11.0 75.0

206 |EHE —E 48 42 90/ 15.0 75.0

2161 | &F B 42 46 88 13.0 75.0

2261 INEFE =EK 45 44 89 140 75.0

23 B¢ = 43 45 88 13.0 75.0

461 \ZlR EA 42 47 89 140 75.0

25 |MHE 44 43 87 12.0 75.0

2660 HF FiEF 47 41 88 12.0 76.0

21 | Kimz KFH 46 45 91 15.0 76.0

2861 HE RT 45 46 91 15.0 76.0

2961 S IE— 44 46 90, 14.0 76.0

RIS = 3 42 46 88 12.0 76.0

316 &L EeAR 47 44 911 140 77.0

2 AH g 47 44 911 140 77.0




3z | ER - 46 45 91 140 77.0
AL | BAK  HES 48 42 90, 13.0 77.0
% EE: Ba 43 48 91 13.0 78.0
366 |HEH ERX 49 40 89, 11.0 78.0
3L |EBIE  FE5h 48 41 89, 11.0 78.0
38GL Mg =E 43 46 89 11.0 78.0
9 Rk R 48 43 91 13.0 78.0
4061 |EK EE 43 47 90 12.0 78.0
b |L#E R#— 46 47 93 140 79.0
4261 |BiE B 45 48 93 140 79.0
4361 AKX Fa 41 51 921 13.0 79.0
44 NEFE OFEE 47 45 92 13.0 79.0
4561 B —E 45 48 93 140 79.0
4662  |KiE F 46 49 95 15.0 80.0
46 | #RH EZ 46 45 91 11.0 80.0
4861 | HLE HA 48 47 95 15.0 80.0
49461 BAR BABEFE 47 44 91 11.0 80.0
50 BBE BEX 47 45 92, 11.0 81.0
S16L /MR F 49 46 95 14.0 81.0
5261 |#A FHiA 46 48 94 13.0 81.0
53 |EEF XEX 51 44 95 14.0 81.0
b4y EE E= 50 43 93 12.0 81.0
551 [/l BIX 49 44 93 12.0 81.0
5662 |Fi@ BR 47 47 94 13.0 81.0
S | RE WK 45 47 92, 11.0 81.0
5861 KT 46 46 92 11.0 81.0
50 THE KE 47 49 96 15.0 81.0
606 |HLE FE 46 50 96 15.0 81.0
61z RAKR Kz 46 48 94 13.0 81.0
626 #mWK F 47 47 94 13.0 81.0
636 |[/hith XK 47 47 94 12.0 82.0
64 fnK = 49 46 95 13.0 82.0
65 HA 2 53 43 9 14.0 82.0




66 | KE FIF0 47 50 97 15.00 82.0
6762 |FIER FZ 53 44 97 15.00 82.0
684 |EH I 48 47 95 13.0{ 82.0
696z |FH B& 50 47 97 15.00 82.0
1062 % 45 49 94/ 12.0/ 82.0
N BM &k 48 45 93 11.00 82.0
1261 |BX EHE 49 47 96 14.0/ 82.0
1361 /MBSt E 48 46 94/ 12.0/ 82.0
1AL |[RE = 49 48 97 14.00 83.0
15 |3Ify X 45 50 95 12.0 83.0
166 | BEiEF Xk 47 49 96, 13.0 83.0
T EiE M 46 50 96, 13.0 83.0
8 = ik 48 49 97 14.0 83.0
796 | HBs F 52 46 98 15.0  83.0
80 FKR & 52 46 98 15.0  83.0
816  #8K X 51 46 97 13.00 84.0
8261 KB {E1 54 44 98 14.0 84.0
836 NIl E & 51 46 97 13.00 84.0
84f1 |\AZIL RIE 48 48 96 11.0  85.0
856 | KEF # 46 51 97 12.0 85.0
86h RHF BT 48 49 97 12.0 85.0
87Hr #5K  Flif 53 47 1000 14.0 86.0
88hr EE # 48 50 98 12.0 86.0
89fT |imEE KB 47 50 97 11.0  86.0
906 |NHE EE{Z 51 46 97 11.0  86.0
o B & 54 47 101 14.0 87.0
926  [fkBE IR 50 53 103  15.0 88.0
93 =i EF—EB 53 50 103 13.00  90.0
9461 | BRE Ea 56 50 106 14.00  92.0
9561 |KF EA 47 60 107, 15.00  92.0
N R kLt BB




